ITamsaTka Ne 2.
Meps! ArHbI
Il em=10 MM

1 aMm=10cMm =100 MM
ImMm=10 oM =100 cm

1 km = 1000 m

Mepsl wiomaau
I kB. cm = 100 xB. MM
1 xB. im = 100 xB. cM =10000 KB. MM
1 xB. M =100 xB. 1M = 10000 xB.cM

ITamsaTka Ne 2.
Meps! quHbI
1l em=10 MM
1 aMm=10cMm =100 MM
1 mMm=10 oM =100 cm
1 km = 1000 m

Mepsl mwiiomaau
I xkB. cm = 100 xB. MM
I k8. im = 100 kB. cM =10000 kB. MM
I kB. M = 100 xB. 1M = 10000 kB.cM

ITamsaTka Ne 2.
Mepsbl 1nvHbI
Il cm=10 Mm
1 aMm=10cMm =100 MM
I m=10 oM =100 cm
1 km = 1000 m

Mepsl mromanu
I xB. cm = 100 xB. MM
I kB. 1M = 100 xB. cM =10000 kB. MM
I kB. M = 100 xB. 1M = 10000 xB.cCM

ITamsaTka Ne 2.
Mepsl 1nuHBI
Il cmMm=10 Mm
1 mMm=10cMm =100 MM
1 m=10 oM =100 cm
1 xm = 1000 m

Mepsl muromanmu
I xkB. cm = 100 xB. MM
I kB. im = 100 kB. cM =10000 kB. MM
I kB. M = 100 xB. 1M = 10000 xB.cCM

ITamsaTka Ne 2.
Meps! niHbI
I cmMm=10 Mm
1 aMm=10cm =100 MM
I m=10 oM =100 cm
1 km = 1000 m

Mepsl mtomaau
I xB. cm = 100 xB. MM
I xB. im = 100 xB. cM =10000 KB. MM
1 kB. M = 100 kB. 1M = 10000 KB.c™m

ITamsaTka Ne 2.
Mepsbl 1uHBI
Il cmMm=10 Mm
1 mMm=10cm =100 MM
1 m=10 oM =100 cm
1 xm = 1000 m

Mepsl nmomaau
I xkB. cm = 100 xB. MM
I xB. im = 100 xB. cM =10000 KB. MM
I xB. M = 100 kB. 17m = 10000 KB.cM

ITamsaTka Ne 2.
Meps! 1nuHbI
Il cmMm=10 Mm
I mMm=10cMm =100 MM
I m=10 oM =100 cm
1 km = 1000 m

Meps! mtomaamn
I kB. cm = 100 xB. MM
I kB. im = 100 xB. cM =10000 kB. MM
1 kB. M = 100 kB. 1M = 10000 KB.cMm

ITamsaTka Ne 2.
Meps! [MHBI
lcMm=10 Mm
1 mMm=10cMm =100 MM
1 Mm=10 oM =100 cm
1 xm = 1000 m

Meps! tomaau
I kB. cm = 100 xB. MM
I xB. im = 100 xB. cM =10000 kB. MM
I xB. M = 100 kB. 1m = 10000 kB.cM
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